
Easterru {Jmnversityu Sri Lanka
Facellty of Copmmerce amd Maaaagerurent

Firsf Year Secomd Serseester Exaxsliaration in BBA/BCoera -2017/18
(January 2&2&j

(Proper/ Repeat)
E CP{ Afi24 Micnoeeomonreies

AUsf-vpr all Questioms Timee: 03 F{oarx"s

0i. a) What is mieroeconomics?

(5 Marks)
b) What are the fuctors determine the changes of market dernand of a product?

(5 Marks)
c) Explain the consumer surplus and producer surplus using diagram,

(10 Marks)
(Total20 lrdarks)

02. a) Briefly explain three types of demand elasticity? ' . I

,l u,rC ln*-rream is 7. What |f#:ft'
goods are they? Justify your answer.

(6 Marks)
c) Explain the iaw of diminishing marginal utility with suitable exarnple?

(8 Marks)
( Totai 20 Marks)

List out the properties of indifference curve?

(6 Marks)
R.upan's Budget line relating good X and good Y has intercept on 100 unit of goods X
and 40 units cf good Y. The price of good X is 24. Caloulating the folloiving.
i. Rupan's income?
ii. Priee of good Y?
iii. Slope of the budget line?

(6 Marks)
Graphically explain the impact of price change using income and substitution effect
of a normal good.

(8 Mari<s)

( Totai 20 h4arks)

03) a)

b)

c)



04) a)

b)

c)

d)

Define the Marginal Rate of Technical Substitution (MRTS)?

Graphically show the three stagevof production in the short run.

05) a)

b)

c)

(5 Marks)

(5 Marks)
.oWhen the scale of production rises a firrn become more inefficient" Briefly explain.

(5 Marks)

Fill out the entries in the table below.

a T'C TFC TVC ATC AVC MC

0 I
I I2
2 14

J 2A
A+ 30

50
(5 Marks)

Total20 Marks)

,

-!
What are the various featuies of perfectly competitive martr<et?

Explain why rnarginal revenue of a rnonopolist is less than the price "h*r*# 

Marks)

(5 Marks)

A monopolist faces a dernand curve, P:100-2Q. if rna,rginal cost is constant and is

equal b 2A. What is the amount of profits made irv the rnonopolist?
(5 Marks)

How does kinked demand curve help in explaining priee rigidity under oligopoly?
(5 Marks)

( Total20 Marks)


